EEAFHR

BE® | BEE (BEm| #E HiLEIE ERZE
dB (A) dB (A) (m/s)
# 55LUTF| ® 46 ERBEESEDE. LAERERS. 0. 52K (NW)
RO1.12.12 EDE
06:00~ i 49 TAEREHE. SOF =R (-)
06:49 ] 47 | EEREERRESE . RA - AAEREGRS.| 0.5%KH (E)
ENE
it 44 ERBEESESE. LAERERES. =R (-)
EDE
= 6O0LT| = 52 |EHLAIERERSE. EHBEESRBRHE. 1. 8(NW)
RO1.12.12 EEEME
15:22~ ] 53 EERME. LAERERES 1.7(N)
16:09 ] 48 ERBEESRBRSE. RES. 1.6 (W)
HAl - ARERERSE. BOF
it 51 BRILLAERERS. EHFAMES 2. 0 (NW)
5 55LTFT| ® 45 ERBEESBESE. ERLAERERS 1.6 (NW)
RO1.12.12 i 47 FEERERE. AME 0. 5% i (WNW)
20:07~ E] 47 ERRAMEE. EHBEESBEDE. BOF 1.3(W)
20:53 it 44 LRERERS. RITHE 1.2 (NW)
® 50LUTFT| ® 44 ERBEESESE. LAERERES. 1.5 (NW)
RO1.12.12 EDE
22:07~ 7 47 RS, LAERERS. BOF 0. 52K (NW)
23:17 ] 45 ERBEESBERSE. RES. 1.2(W)
Rl - HAERERS., EES
it 44 FEERERE. BEE. BOF 1. 3(NW)

(AESAH=8EFRE - AEEHK=F1H)

(FERIEPRIE : L)

EEAERR
B il WHEE |BIE = #w B HiLEE

(dB) (dB)

B 65LTF| =® 30K i
RO1.12.12 7 30K i
14:58~ [E] 30K i
16:09 it 30K i

& 6O0LT| = 30K i
RO1.12.12 i 30K i
22:07~ i) 30K i
23:17 it 30k i

(AESF=hRREL - ATRK=F1M)

(FERITPRIE : Lwo)







